BRI T 113 2EEE—EHEREE B B &%

R H HA BN~ T4 2 30~16 1 05) fifaa
. [Eer 1] FR/E 0 KR ESEEY) AN O
08 H 30 H s 2 AL (B ) 0830(71)12:10 t+ &
~ o9 B 068 (B 2) 3586 : BenQ ZB1TEIRE |0906(F) T &-54253| 48
— N RO 0906(77)14:10 1 B0 2%k
= |09 A 13 H |tEHE o Bk M 0913 55— EREE
[Her 3] FE SRR EEEE)
I 1098208 |44 5014 1 50 kedhagenmis
[ 4] _ e
. e 0924(=)- 0926(I/U) 5 PR EL 5w, - 58
% 09827 H 14 32—147 50 Lg?% %D%E%Qﬁgg fﬁ%?;@ﬂig‘i‘i@
14 : 50-15 : 50 FRE : sES AT S] SR
1002(=)-1004(71) 56 = P& B isE Lt - BHE
N ~ " g 2t At E - E
/\ 10 H 04 E {}Eg 5] #ﬁ%&%éﬂ%g 1004(5:)%&%%%%?%
1005( H ) AT EE s &
% 1007(—)-1009(=)5F—K EHH =
+ lloB11m [He 6] £ : S8/ERFEOE 1009 ( =) SSPUPLELsE: @ 558 =i
*14 1 30-14 © 50 FeA N B ERE )@ A EMNEE » FAPEEREHE
e FaEsd
[Egr 7] 14 : 30-15 = 30
JU |10 B 18 H BT EmEREE (BEE)
#15 1 30-15 ¢ 50 PRSP EE
L |108 258 | ttHE1 1025(F.)13:30 1+ B ZAer o
+ 118018 |[#Ag8] & : FEHRSHE 1031(VU)-1101(F) =2 Bl 4k
+— 11508 H | #HHE?2
+= (118 15H | +E3
+= [11822H | #HHE4
e e K 1126(=)-1128(MH) 28 — R E BT &
‘HT_E[ 11 H 29 E ﬁ‘l‘hﬁﬁi*)(%ﬁ%bg 1130(7?)?%%%%5,%
. 1203(=)12:10 HHE&rsk
T 125068 | HES 1205 . F 9:00 BHHA IR 3 B
+7x 112813 H | ttHE6 1213 4 4:00 F - SHEEE a5 B
+t 128208 PigcEEE 1216 T4 5:00 #Ett HHEE EBEGRS#E
+/0 128278 | [Eg9)] £# : £d4aHF
[ 10)] T8 P EHEE
L OLRO03B - 0014 ¢ 50 st
—+ |01 A 10H | [HEg 11]) pikgEyEAEEEE =) (0110 EitaER A S -
—+—[01 B17 H [HIRAREE *0115(=)-0117(R)E =R EHEE
“+ZI01B20H |fRkE=L




